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PART A — (10 x 2 = 20 marks)

1. Which is called partial key?

2. Give an example for wait-for’ graph? What is the ﬁse of it?

3. - Describe the types of fragmentation.

4. Write the strategies of partitioning techniques in I/0 parallehsm.
5.  Define object identity.

6. | How XML is different from HTML?

7.  Write some of the queues in a database system.

8.  Define Association rule.

9.  What are the types of spatial data? -

10. What is called bitemporal database?
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transaction with state diagram. (%)
Explain Equivalence rules. Apply them to optumze the query tree
formed for the followmg query. (11)
Schema: ‘Library relatlonal schema’ consists of entities ‘Book’,
‘Author’, ‘Issue’ and ‘Return’.
Query:  List all the books written by ‘Elmasri’ & borrowed by
' MCA students. .
Or
(1) Explain in detail about two-phase locking protocol used in
Concurrency control. . (8
(i) Give the structure of log records. Elaborate the conéept of deferred
Database modification method of log based reeovery. 8)
Elaborate various schemes of locking protocols applied in distributed
database environment for concurrency control. ; (16)
Or \
(i)  What do you mean by skew? How to handle them? )
(i) Explain the two methods of parallel sort in intraoperation
parallelism. 9)
(i)  Give the structure of an object with an example. : (6)
(i) What is called DID? Give an example XML program using DTD. (10)
Or i
(1) Give examples for the following in complex type object Iahguage.
(1) Inheritance : 4
(2) path expressions. ‘ 3)
(ii) What do you mean by persistence of ob_;ects" Discuss various
- approaches to achieve it? 9
() Explain about two-tier and three-tier web architectures, How .
serviets Helps for communication? (8)
(u) ‘Justify: Normalization helps to tune the databasé schema. (8)
Or
() Define Decision tree. How to build a decision tree classifier?
Explain with the algorithm. , €¢))
(i) Explain star schema of data warehouse Give an example. @)

PART B — (5 x 16 = 80 marks)

Explain the properties of transaction and different states of
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Explain Fix-point operation in deductive daﬁabases. , (6)

What are the parts of a trigger? Give an example. Write a Trigger
to update employee database to fax the salary for an employee

based on commission. ) (10)
Or

How are the multimedia data indexed for content-based retrieval?(5)

How the time is represénted in temporal databases? (6) \

Explain about the characteristics of mobile environment. (5)
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